Algebra 1 Unit7: Quadratic Expression M Practice
Day 7 - Factor Trinomials (-, - & +,-) Name:
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Algebra 1 Unit7: Quadratic .E*PfeSSiO” : Practice
10. Which of the following b values makes the trinomial x2 + bx —30 nof factorable?
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11. Determine the values of k. and n.

a. (x+4)(xi[!:)=x2:rgx—24 b. (x+5k)(x—])=x2qi-nx—-5 G (x+5)($<iﬁ)=x2+3x—l:})
K=-b K=~5 Yie=2
N=-2 n= 4 n=10

12. If the area of arectangle is A = x2 + 4x — 12, answer the following:

a. What are the side lengths of the rectangle? Y 9 ) w
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b. What is the perimeter of the rectangle?
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